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QUESTION 1

What is a benefit of an active/passive cluster configuration? 

A. It is more efficient in terms of hardware utilization. 

B. It is the simplest and most reliable. 

C. Failover performance is faster than a symmetric cluster. 

D. Failover performance is faster than an asymmetric cluster. 

Correct Answer: B 

 

QUESTION 2

Which command enables and disables forcing the import of a disk group on a cluster controlled by Microsoft Failover
Cluster? 

A. vxclus 

B. vxdg 

C. vxassist 

D. vxdisk 

Correct Answer: A 

 

QUESTION 3

A disk displays an X symbol in a red circle. What does this indicate? 

A. There is a potential problem and it should be fixed immediately. 

B. The disk is inaccessible, but the data is healthy. 

C. There is a disk failure and it should be fixed immediately. 

D. The disk is disconnected, but the data is healthy. 

Correct Answer: C 

 

QUESTION 4

If there is insufficient space on the Offsite Copy destination, which recovery point will the Offsite Copy delete? 

A. largest 
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B. duplicate 

C. oldest 

D. failed 

Correct Answer: C 

 

QUESTION 5

Which Veritas Storage Foundation and High Availability Solutions 6.0 for Windows installation option facilitates the split
of a dynamic disk group? 

A. Volume Replicator (VVR) 

B. Fast Failover 

C. Global Cluster Option (GCO) 

D. FlashSnap 

Correct Answer: D 
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